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E Script
E.1 Haar Wavelet
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gooooooobooobooooooooboobooooooooooo
oobooooobobooobooooooobooobooboooooooooo
gooo

ooon

0000000000 sincosODO000O0O0O00OOOOOOOOOOOO
obooooboooobobooooboooooboobooboOobooon
gbooooobooobooboboooobooo

000000000 0O0O0O0D0O0O0DO0D00O0OO0ODOODOODOO0 JeanMorlet
019800 000000000000 O00ODODOOCOODOOODOODOODOO
Grossmanl 000 0000000000000 00O0O0O0O000000O!
19850 0000000000 YvesMeyad 00D 0OOOOOODOOOO
gobooooobooooboboooobooobooboboooobooo
oO00o0ooO0oO00ooooOoooooessooooooooooooo
gobooobooobobooobooooboboooobobooooobooooon
StephaneMallal 0000000000000 0ODOO0O0OOOCOOOOOO
gbooooooboooobobooooboobooboboooobooo
00000000%000000000000000000000

1 0O0Od-0boboooogdg

11 0O0o0Oo0ooo-ocoooodgo
0000000 no0d 20000000000000

0002000 (gOoooogoo od low pass filter
0002000 (O0oO0Ooocgooo 00 bold | high pass filter

O0OnlO0ODODOOOOCOO (DO0)UODODUODODODOO 200000000
oooooooooon2,n3. 000000000

gbooooboooobooboboooboboooooboooooan
ooooog

0000000000000 0000000000000000000000000000
gooooooooooooooooboooOoOoOoOOOOOO0OO0O0ObOO0O0O000O00000
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nO(data) nl n2 n3

3.03265 50292 434192
6.0653 | -3.03265

7.3576 | 7.02575 -1.99655

6.6939 | 0.33185

54134 | 47588 365465 0.687275
4.1042 | 0.6546

29872 | 25505 1.10415

21138 | 0.4367

o

271.12
1248 16 32 64 128 256 512 1024 2048

qr

01ogoogooo

oboooobooooobooboboooboboooooboooooan
goooooooo

gboobooboooobobooooboboooobooboooooboaon
gboooobooooooboooobooboooonog

cascade_hwt KO

- +
[® 6.0653 7.3576 6.6939 5.4134 4.1042 2.9872 2.1138 |
o - +
[3.03265 _3.03265 7.02575 0.33185 4.7588 0.6546 2.5505 0.4367|
- +



—0 —2 —a4 —s8

0200000000000

[5.0292 _1.99655 3.65465 1.10415 |

o0o0o000 0O0D0OOOO0ONHKOODOOOODOOODOOOOOoOOO
o0oooooo20000000000000DOO0O0C0O00000O0OOO
0000000000000 000DO0O000DO0O000O0DoOOO0 200
gboooooboobooooboboooobooooogooboo

12 DO0O0OO0O-000000000

gboboboaobooaboaobaooaooa

0000020000000 20000000 -000O0O0ODOO0ODDO
OO0OAlfred HaarOO OO 190900000000

Oo0o000ooooooooooooooooooooooon a0
0000000000000 (goooooooooooooooo

o 05 05 O 0 0 0 0O O S
Co 05 -05 O 0 0 0 0O O S
a 0 0O 05 05 O 0 0 O S
ct|_ O 0O 05 -05 O 0 0 O « S
a 0 0 0 0 05 05 0 O S
C2 0 0 0 0 0 -05 0 O S5
as 0 0 0 0 0 0 & 05 S
C3 0 0 0 0 0 0 0 05 S7



mat_hwt_sub KO

.5 0.5 0 0 0 0 0 0
.5 _0.5 0 0 0 0 0 0
0 0 0.5 0.5 0 0 0 0
0 0 0.5 _0.5 0 0 0 0
0 0 0 0 0.5 .5 0 0
0 0 0 0 0.5 _0.5 0 0
0 0 0 0 0 0 0.5 0.5
0 0 0 0 0 0 0.5 _0.5
1 11—
| .
T
-1
O 3: mother wavleg,scalingy
1 0<t<1/2
1 0<t<1
¢ $(t) = . ¥ pt)=( -1  1/2<t<1
. 0 otherwise .
Scaling Wavelet 0 otherwise
0+ 6.0653 0-6.6053
O¢0,05) +6.0653p(05,1) = T¢(O,l) + Tl!/(o,l) = 3.0326% 1) -
3.03269 ()

12 1/2
sz[ / / 000000 @ODopoooo)0opooooooo

1/2 -1/2

oboobooobooobooooooooooonnd %DDDDDDDD
obooooobooooboboooobooo
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S 1 0 0 0 0 0O o

C1
a
C3
ag
Cs

as
C7

= © o o

& & LYY ©
|

O O O O O O kF -

OO0 oor pRr O
©O Opr r © oo
P Pk © o0 oo
P © o9 oo

o O

al=.4.34192 0.687275

(11,:1 _1) +/ . * al

(11,:1 _1) +/ . * al
5.0292 3.65465

3 reverse_hwt cascade_hwt KO
5.0292 3.65465
2 reverse_hwt cascade_hwt KO
3.03265 7.02575 4.7588 2.5505
1 reverse_hwt cascade_hwt KO
0 6.0653 7.3576 6.6939 5.4134 4.1042 2.9872 2.1138

2 JOooobo-0bbooooboobg
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oooo0oes7ooooooooooooooooobooooooonoog
oboooooooooooboono

211 D4
N2(D4)0 000000 (NL(D2)0 HaarO O OO OOO000O

ScaingD 0O OoOoooooOoOoOO

1+ 3 A B U AR AR AR
ooooo Y8000 vao 4
ooooooooooooooon T
oooo T
1+ V3
ho =
42
3+ 3
ho =
V2
3- 3
ho =
V2
1- 3
ho =
442
O 4: mother wavlet
Wavelet go = h3 dp_4® LI}
0= -hy 0.482963 0.836516 0.224144 _0.12941
gz = h]_ dp_41 LI
93 = —ho 0.683013 1.18301 0.316987 _0.183013

22 DO00O0ODOODOOOOOOOOODODODO
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ag‘l hp hy hh hgs 0 0 0 O

art % % % 9 0 0 0 0

alt 0 0 hp hy hp hs 0 O

aj'| 1/ 0 0 g g % g 0 0

at| 2l 0 0 0 0 h h h he

apt 0 0 0 0 g O % G

art 0 0 0 0 0 0hy hy|h hg

3971 0 0 0 0 0 09 9|k 9
5

6j2 ": mat_dwt4_sub KO NB. 0O OOOOOOOO
0.48 0.84 0.22 _0.13 0.00 0.00 0.00 0.00
_0.13 _0.22 0.84 _0.48 0.00 0.00 0.00 0.00
0.00 0.00 0.48 0.84 0.22 _0.13 0.00 0.00
0.00 0.00 _0.13 _0.22 0.84 _0.48 0.00 0.00
0.00 0.00 0.00 0.00 0.48 0.84 0.22 _0.13
0.00 0.00 0.00 0.00 _0.13 _0.22 0.84 _0.48
0.22 _0.13 0.00 0.00 0.00 0.00 0.48 0.84
0.84 _0.48 0.00 0.00 0.00 0.00 _0.13 _0.22

23 D@)ooOooo
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St hs gs|hy ¢¢ 0O 0O O O O O

S h, & hp o 0 0O O O

S |_ hs g3 hy ¢ 0 0 O O o
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0 5:C1l7000000 Haar

4 OO0
classify main sub
file waveletQ.ijs
haar cascadéhwt pick_hwt_sub
reversehwt_sub
mathwt_sub
daubechies cascadedwt40 NB. norm mat.dwt4_subO
cascadalwt4l NB. non| dp4.0 NB. norm
norm mat.dwt4 subl
dp4.1 NB.non norm
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06:Cl7y00OO0000 dwa

common pick_scale
pick. wavelet
normO

plot plot_ cascade

plot_cascade?2

mk_xaxis wavelet
readtrenddata

sha waveletsna
plot_cascade3

5 Reference

Yves NievergeltJ O -00 -000000000000O0OODOOOOOO
00 2004

oo0oOoO0oO00oooOo0o0o0obooo0oooooboOoOon 2003
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A.1 haar
11
V2 2

ooooo

A2 0O0O0O0O0O D4

goooooo
1+ 3
hy =
42
3+ V3
hp =
4
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X
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ho =
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ho =

N
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B ODOOOOD4OOODO
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a3t |0 0% 9 g g 0 0 0 O “ aj
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B2 000O0OODOODOOOO

0000000000000 00000oU0ooooooooooos®
matdwt_suldl

h, h 0 0 O O hy h
2 g 0 0 0 0 g o
hp hy hph, h3 0 0O O O
G 9 9 g 0 0 0 O

O O hy hy hh hg 0 O
G O % 93 0 O

0O O
0O 0 O O
0 0 0 O g 9 9 O

C D@OOO

Kristian Sanberg(Dept. of Applied Mathematics,Univ. Cololado) O O O

O0.000000000000
1+ V3 3+V3 3-v3 1-+3

¢ = (¢(0), c(1), ¢(2), ¢(3)) = ( Az A avs ' ave

(as alow pass filter
d = (d(0),d(1),d(2), d(3)) = (c(3), ¢(3), ¢(1), c(0))
(as a high pass filter

)

% is a normalization facter

Consider f= (f(0), f(1),---, (7)) =(2,5,8,9,7,4,-1,1)
Sted :
f = (£(6), f(7), (0), (1), f(2), f(3), f(4), f(5), f(6), (7)) = (-1,1,2,5,8,9,7,4,-1,1)

c(0)f(6) +c(1)f(7) +c(2)f(0) c(3)f(1)
c(0)f(0) +c(1)f(1) +c(2)f(2) c(3)f(3)
c(0)f(2) +c(1)f(3) +c(2)f(4) c(3)f(5)
c(0)f(4) +c(1)f(5) +c(2)f(6) c(3)f(7)
dO)f(6) +d(1)f(7) +d(2)f(0) d(3)f(1)
d(0)f(0) +d(1)f(1) +d(2)f(2) d(3)f(3)
d(0)f(2) +d(1)f(3) +d(2)f(4) d(3)f(5)

d0)f(4) +d(1)f(5) +d(2)f(6) d3)f(7)
=0.154794 5.77697 12.4437 6.37325 _0.836516 0.965926 0.871191 _3.12192

f1=

S0pD00000D0D0DODODO 10000
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Ste2:
fi = (f1(2). f2(3). 11(0). f1(1). f1(2). f1(3). f1(4). f1(5). f1(6). f1(7))
=12.4437 6.37325 0.154794 5.77697 12.4437 6.37325 _0.836516 0.965926 0.871191 _3.12192

c(0)f(2) +c(1)f1(3) +c(2)f1(0) c(3)fi(2)
c(0)f1(0) +c(1)f1(1) +c(2)f1(2) c(3)f(3)
d0)f1(2) +d(1)f1(3) +d(2)f(0) d(3)fi(2)
d0)f1(0) +d(1)f1(1) +d(2)f(2) d(3)f(3)

f1(4)

f1(5)

f1(6)

f1(7)
=10.6283 6.87172 _5.69944 6.01642 _0.836516 0.965926 0.871191 _3.12192

fo =

Stef3:
fo = (£2(0), f2(1), 12(0), f2(1), f2(2), f2(3), f2(4), f2(5), T2(6), f2(7))
=10.6283 6.87172 10.6283 6.87172 _5.69944 6.01642 _0.836516 0.965926 0.871191 _3.12192

c(0)f2(0) +c(1)f2(1) +c(2)f2(0) c(3)f2(2)
d(0)f2(0) +d(1)f2(1) +d(2)f2(0) d(3)f2(2)
f2(2)
f2(3)
f2(4)
f2(5)
f2(6)

f2(7)
12.3744 2.6563 _5.69944 6.01642 _0.836516 0.965926 0.871191 _3.12192

fg =

casO_dwt4 SO

o +
258974 _11 I
e it +
|0.154794 5.77697 12.4437 6.37325 _0.836516 0.965926 0.871191 _3.12192|
e +
|10.6283 6.87172 _5.69944 6.01642 |
o - +
|12.3744 2.6563 |
e +

14



D DooOooood

7j4 ": dp4_0 mat_dwt4_sub® KO

.4830 0.8365 0.2241_0.1294 0.0000 0.0000
.1294_0.2241 0.8365_0.4830 0.0000 0.0000
.0000 0.0000 0.4830 0.8365 0.2241_0.1294 0.0000 0.0000
.0000 0.0000_0.1294_0.2241 0.8365_0.4830 0.0000 0.0000

0.0000 0.0000

0.

0.

0.

.0000 0.0000 0.0000 0.0000 0.4830 0.8365 0.2241_0.1294
0.

0.

_0.

0000 0.0000

.0000 0.0000 0.0000 0.0000_0.1294_0.2241 0.8365_0.4830
.2241_0.1294 0.0000 0.0000 0.0000 0.0000 0.4830 0.8365
.8365_0.4830 0.0000 0.0000 0.0000 0.0000_0.1294_0.2241

(= I — N — N A — I — I — I~

oooooooOooooobooOgs.0cooooooooooonobooObDOO
gboooooobooooobobooooboobooon

dp4_0 mat_dwt4_sub® KO
0.482963
0.836516
0.224144
_0.12941
_0.12941
_0.224144
0.836516
_0.482963
0.482963
0.836516
0.224144
_0.12941

N N NN R R R R

$
0
1
2
3
0
1
2
3
2
3
4
5

E Script

E.1 Haar Wavelet

NB. OO (+/ . »HOOOODOOOODODOOODOODOO
200000000

cascade_hwt=: 3 : 0

NB. cascade Haar wavelet

TIME_IND=: I. (2°i. # y) e. # y NB. index for repeat
ANS=.< TMP=. y

for_CTR. i. TIME_IND do.

15



MAT=. mat_hhwt_sub TMP

NO=. MAT +/ . * TMP

ANS=. ANS,<NO

TMP=. pick_hwt_sub N® NB. pick upper of sandwitch
end.

, . ANS

)

NB. DOOOOO0OOOOOOOOODOO

pick_hwt_sub=: 3 : "(-.*Q2|i.# y))# y’ NB. pick odd is scaling

NB. DOODOOOOODOOl.C"e LOOOOODOOD (0.5,-0.5 etc) O
googoboood

mat_hwt_sub=: 3 : 0

NB. mat for highspeed Haar wavelet

INDX =.-: # y NB. half of number

TMPO=. ;("2),.INDX # <2 2 $ 0.5 0.5 0.5 _0.5

TMP1=. TMPO ,. (;(# TMPO),((# y)-2))$0 NB. add O part

IND3=.- ;2 # L:0 {@ INDX{. +: i. # y NB. make rotate index
IND3 |. ("0 1) TMP1
)

NB. D00ODOO0OOODOODO0O0OOOD0O0OO Expandd OO OO0
gigeoooogn

plot_cascade=: 1 : 0

TMPO=: u vy

IND=: {@ }.2"i. # TMPO

TMP1=. (-.&"* (L:0®) 2 | L:0 i. L:® , # L:0 }.TMPO®) # L:0 }. TMPO
DAT=.;("1)({. TMP®),IND # L:0 TMP1
pd ’reset’

pd ’keypos open bottom’

pd ’keystyle open horizontal’

pd ’key ’,": 0,;IND

pd DAT

pd ’show’

)
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